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LINEARIZATION (SAME AS A TANGENT LINE TO A CURVE)

EX1. A. Find a linearizationto f(x)=3x"-2x°+1at x=1.

fungent line r il
B. Use the linearization to approximate m £(1.0 3)

Al Lex) = Fan +~F’//)(9{—l)

¥(f)-‘3—z+1:z 2
'F'(X)f ?’)(Zfllys
f“(l)* - J2 = =3 |
[Loa= 2 =3 cx— 1] e
B] Froez Ll1.03)= 2 - 3((o3-1) = 2 -3(203)
=2 —0.09
= ¥
= /f“/

EX2. A. Find alinearizationto f(x)=cos’*(x)+2x at x=0 .

B. Use the linearization to approximate f(0.2)

Al Loo= £6) + 100 (x=o)
fC0) = CosC) +2¢0) = | “P/’W’@
fx) = 20sx)(-smn) + 2 74,
flty = =2 + 2 =12 "
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Bl $o-2) = Li02) = 142 foams) = 1v2ony = [14]
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EX3. Consider the function y = f(x)

with 7(2)=5 and derivative f’(x)=el"™ +\/cos(x —2)+3x/2
A. Find a linearization to y = f(x)at x =2

B. Use the linearization to approximate f(2.1)
/?1 Lcx)y = §£C2) + f/(z)(x—fa)
f(LH= § I Jve N
I
‘F/X) = given
| [
g—[l)r e 1t tescey + 3 = /T

L(x)= 5 +3(x-12)
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